V, .- + Vi -

40 40

W\~ "WV

V, =+1R V,=—I,R

V, = +(2A)4Q2) V, = —(- 2A)4Q)
V1 = +38V V1 = +8V
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V,=+I1R

Kirchhoff’s Current Law (KCL)

-- at any nodes
ZIZO OR Zlinzzlout

-- conservation of charge

Kirchhoff’s Voltage Law (KVL)

2V=0

-- at any closed loop

-- conservation of energy
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Nodal Analysis (using KCL) Z | =0

l (1O_VA) +(O_VA)+(O_VA)=O
20 J 1 2 6.38
10v V, =6.04v
1 | =—-0.947A

. AT HENT S
0zl gl v bivgh
|+ L=-2 11+ Yoo 2 11 o+ 3o 638
Codov] o @OV = T = ~ 6.38
! o SO P
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Superposition

Sy Vl Vout .+ _ f)
D ——v, Some y Vi =
- @ CIrcuilts out
2V
Gnd Gnd -
\ . Vour — + v V, Vo —— +
—\V, 20me Some
Gnd Gnd - Gnd Gndb—— -
i Vout = Vlout T V20ut |
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Superposition

I V, ——
| 1 out + _
OA ——v, Some Vout = ?
@ oy circuits Vout
Gnd Gnd -
ly . Vour — + 1, Vo —— =+
——V, =0Me oA v, Some
@ oV CIrcuits Viou Q) > circuits V2,
Gnd Gnd - Gnd Gndp— -
i Vout = Vlout T V20ut |
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Superposition

WA  OPEN the current source
P 2 « SHORT the voltage source
5A O I +
O "D Ea v
 OPEN the current source « SHORT the voltage source
10Q 10Q
“WV- “WV-
120 2 120 20
WV | W— + WV W— 4+
V1 * ' V2
SO RO RS C
Vour = Vg + V24,
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(Source Transform)

5v CD <P 05A <> %10 0

Prepared by Ricky Choi Elec2400 Fall*21-22 Tutorial-3 (ver 1)



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8

